
Figure S6

c c

A B

C

E

Time
Time

1 0
t ωt

0 1
( )

r
2

r
2

1000 2000 3000 4000 5000 6000

0.2

0.4

0.6

0.8

1000 2000 3000 4000 5000 6000

0.2

0.4

0.6

0.8

5 10 15

0.02

0.06

0.10

0.1 0.2 0.3 0.4 0.5

0.02

0.06

0.10

5 10 15

0.02

0.06

0.10

r
2

1 0
t ω ωt

0 1

D

Figure S6: Simulations of the Hill function model (47) in Text S1. (A) The outputs of

system (47) (black) and system (46) (red) in response to the pulse input in Figure S5B (black). (B)

The outputs of system (47) (black) and system (46) (red) given the noisy input in Figure 3A. (C) The

noise amplification rate versus t1→0ω. (D) The noise amplification rate versus t0→1ω. (E) The noise

amplification rate versus (t1→0 − t0→1)ω. In all simulations, L = m = 1, and all other parameters take

the same values as in Figure S5.
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